	Learning Area: 

Maths

	Resource Name:  

Maths

	Assessment Exemplar Number:

M8.44

	Item: 

44

	Phase: 

Senior

	Grade: 

8

	Learning Outcome(s) and Assessment Standard(s):

Learning Outcome 1: Numbers, Operations and Relationships
Assessment Standard: We know this when the learner

8.1.3 (b) (f) Recognises, classifies and represents the following numbers in order to describe and compare them: decimals, fractions and percentages; multiples and factors.

8.1.5 (a) Solves problems in context including contexts that may be used to build awareness of other Learning Areas, as well as human rights, social, economic and environmental issues such as: financial (including profit and loss, budgets, accounts, loans, simple interest, hire purchase, exchange rates).

8.1.6 Solves problems that involve ratio and rate.

8.1.7 (a) (b) Estimates and calculates by selecting and using operations appropriate to solving problems that involve: rounding off; multiple operations with rational numbers (including division with fractions and decimals).

8.1.9 (b) Uses a range of techniques to perform calculations including: using a calculator.

8.1.10 Uses a range of strategies to check solutions and judges the reasonableness of solutions.

8.1.11 (a) Recognises, describes and uses: algorithms for finding equivalent fractions.

	Learning Space:
Assessment

	Hyperlinks: 

To be completed later.

	Number of questions for exemplar: 

1

	Rating:

Easy questions: 



	Medium questions: 



	Difficult questions: 

X


Educator and Tagging Information:

Assessment Task

Questions:
1.
The planning committee of the school dance company are organising a birthday lunch for their teacher. There are 128 learners that take dance at the school. The committee took a survey of 26 learners by asking them to choose a pizza. The results are shown below:

	Kind of Pizza
	Bacon Supreme
	Avocado Ritz
	Four seasons

	Number of learners
	12
	4
	10



The pizza place sent you the specials menu:

	PIZZA GALORE SPECIALS
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	Medium

(Serves 4)
	Large

(Serves 6) 

	Bacon Supreme
	R45,99
	R82,99

	Avocado Ritz
	R42,99
	R75,99

	Four Seasons
	R52
	R89



a)
The committee has a budget of R1 900 for food. Use the results of the survey and calculate how many of each pizza you are going to order.


b)
Show how the calculations will ensure that you do not spend more than R1 900 on the pizza. 

Solution
1.
a)
So now the total number of people surveyed is 26 and the results are as follows: (excluding the educator)

	Kind of Pizza
	Bacon Supreme
	Avocado Ritz
	Four seasons

	Portion of learners
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	Number of 128
	59
	19
	50

	No of Pizzas to order that feeds 6
	9
	3
	8

	No of Pizzas to order that feeds 4
	1
	1
	1



Of the large pizzas: 9 Bacon, 3 Avocado and 8 Four seasons.


Of the smaller pizzas: 1 of each


b)
Total costs:
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There is no hint or any suggestion of the method that could be followed to answer the question. It’s up to the learners to choose their tools and methods. The dimensions in which the learners work are 6 and 4, with its price ranges. Some pizzas feed six, some feed four.

Appendix of Assignment Tools

Fractions
Percentages
Probability and rates
Parts of a whole
Rounding
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